ENTREME MAK : i i
 BROTUETS Heavy-Duty Dock Hardware Kit Instructions

Attention! 3005.5522
One box contains half the hardware components necessary to complete a standard
dock section assembly, lumber not included. For the full hardware set, purchase two
boxes of the Extreme Max 3005.5522 Heavy-Duty Dock Hardware Kit.

Includes:

. Large Heavy-Duty 90° Inside Corner Dock Plate x 2

. Large Heavy-Duty 90° Outside Corner Dock Plate x 2
. Small Backer Plate x 6

. Small 90° Corner Bracket x 3

.M12 x 1.75 x 75 Carriage Bolt x 28

. M12 Flat Washer x 28

. M12 Hex Nut x 28

NOoOOoaprwWwN -

Roje

@0 @@
@O0 @@
@0 DD
@0 @@
@0 DD
00 @@
@0 @D
@00D®
00 D@
@0 PP
@ @@
©0D®
@0 DD

Read, Follow, and Save These Instructions.
& Warnings:

e The Extreme Max 3005.5522 Heavy-Duty Dock Hardware Kit is designed to provide the necessary hardware for a
standard dock section assembly. Do not use the hardware for anything other than its intended purpose.

e Extreme Max is not responsible for the design of the dock section used during assembly.

e Extreme Max assumes a basic knowledge of dock construction and craftsmanship from the customer. If this knowledge
and/or the appropriate skills are lacking, do not attempt dock construction. Consult a professional for further advice.

¢ Due to the variety of dock configurations and building materials available, Extreme Max does not provide instructions
for dock assembly.

Customer Service: service @extrememax.com | www.extrememax.com 3399ex0120



Product Satisfaction Guarantee
At Extreme Max, we pride ourselves on making quality products and wish to correct any mistakes on our end. If you are
not 100% satisfied with the product, for any reason, please reach out to us. We are here to help!

Warranty
This product is warranted for consumer use for 2 years after the date of retail purchase. Warranty includes parts only.
Warranty valid only in the USA.

This product is warranted to the original retail purchaser to be free from defects in material and workmanship, ordinary
wear and tear expected. This warranty shall not apply to any defects caused by: (I) overloading, (Il) physical abuse

of goods or any acts of vandalism by any person, (lll) improper installation or use contrary to the instructions, (IV)
commercial use. The sole remedy under this warranty is at the discretion of manufacturer: the replacement of the same
or similar product, or the refund of the original purchase price. Extreme Max™ is not responsible for any consequential
or incidental damages. Any and all freight charges to handle warranty claims are the responsibility of the consumer.
Extreme Max™ is not responsible for any labor charges that may be incurred.

For all inquries please send your name, mailing address, main contact phone number, original retail sales receipt,
summary of alleged defect and any applicable pictures to service@extrememax.com.

Customer Service: service@extrememax.com | www.extrememax.com




ENTREME MAK : i i
 BROTUETS Heavy-Duty Dock Hardware Kit Instructions

Attention! 3005.5522
Une boite contient la moitié des composants matériels nécessaires pour compléter

un assemblage de section de quai standard, bois non inclus. Pour I'ensemble de
quincaillerie complet, achetez deux boites du kit de quincaillerie pour quai robuste
Extreme Max 3005.5522.

Includes:

. Grande plaque de quai de coin intérieur robuste a 90° x 2
. Grande plaque de quai de coin extérieur robuste a 90° x 2
. Petite plaque d’appui x 6

. Petit support d’angle a 90° x 3

.M12 x 1.75 x 75 Boulon de carrosserie x 28

. M12 Rondelle plate x 28

. M12 Ecrou hexagonal x 28

NOOR~,WN =

Roje

@0 @@
@O0 @@
@0 DD
@0 @@
@0 DD
00 @@
@0 @D
@00D®
00 D@
@0 PP
@ @@
©0D®
@0 DD

Lisez, suivez et conservez ces instructions.
/\ Mises en garde:

¢ Le kit de quincaillerie de quai robuste Extreme Max 3005.5522 est concu pour fournir le matériel nécessaire pour un
assemblage de section de quai standard. N'utilisez pas le matériel a d’autres fins que celles pour lesquelles il a été congu.

e Extreme Max n’est pas responsable de la conception de la section de quai utilisée lors de I'assemblage.

e Extreme Max suppose une connaissance de base de laconstruction de quai et de I'artisanat du client. Sices connaissances
et/ ou les compétences appropriées font défaut, n‘essayez pas de construire un quai. Consultez un professionnel pour
plus de conseils.

¢ En raison de la variété des configurations de quai et des matériaux de construction disponibles, Extreme Max ne fournit
pas d’instructions pour I'assemblage du quai.

Customer Service: service@extrememax.com | www.extrememax.com




Garantie De Satisfaction Du Produit

Chez Extreme Max, nous sommes fiers de fabriquer des produits de qualité et souhaitons corriger toute erreur de notre
part. Si vous n’étes pas satisfait a 100% du produit, pour quelgque raison que ce soit, veuillez nous contacter. Nous
sommes ici pour aider!

Garantie

Ce produit est garanti pour une utilisation par les consommateurs pendant 2 an apreés la date d’achat au détail. La garantie
ne comprend que les piéces. Garantie valable uniquement aux Etats-Unis.

Ce produit est garanti a I'acheteur au détail d'origine comme étant exempt de défauts de matériaux et de fabrication,
d'usure normale attendue. Cette garantie ne s’applique pas aux défauts causés par: (I) la surcharge, (Il) I'abus physique
de marchandises ou tout acte de vandalisme par quiconque, (lll) une mauvaise installation ou utilisation contraire aux
instructions, (IV) une utilisation commerciale. Le seul recours en vertu de cette garantie est a la discrétion du fabricant: le
remplacement du méme produit ou d’un produit similaire, ou le remboursement du prix d’achat d’origine. Extreme Max™
n’est pas responsable des dommages indirects ou accessoires. Tous les frais de transport pour traiter les demandes

de garantie sont a la charge du consommateur. Extreme Max™ n’est pas responsable des frais de main-d'ceuvre qui
pourraient étre encourus.

Pour toutes demandes, veuillez envoyer votre nom, votre adresse postale, votre numéro de téléphone principal, le recu
de vente au détail original, le résumé du défaut allégué et toutes les photos applicables a service@extrememax.com

Customer Service: service@extrememax.com | www.extrememax.com




